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Complete the table.

Round to the
nearest 100

24,439

9,199

471

Steph's barrel was 41.75 kg.

She added 3.25 kg of clothes,
and then decided to take out
2.05 kg.

What is the new weight
of the barrel?

Put the other hand at the
correct place to make an angle
written below.

Malachi wanted to build a bi
cube with a volume of 64cm;
using small cubes.

How many more small cubes
does he needs to finish his
model?

[ ]

Fill in the missing digits.

85,262 —

Complete the calculation.

Circle the largest number in each row.

4 h N
+ 4,000 = 7,353 2,450 J [ 2,200 J [ 2,890 [ 2,699
- o >’
{ ™ N 7 ™\
1 t t 56,752 [ 55,652 6,752 50,999
1 2 ) 7 2 4 -~ J J N\ J
= 262 + > P
_ 7,678 [ 7,341 7,553 76,400
35,02 2 k )
~ ™\ . B
33,333 [330,3(!) [ 3,470 J 13,980
- J - J
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Complete the table.

Round to the

nearest 100
24,439 | ), 400
9,199 2.200
471 S0

Steph's barrel was 41.75 kg.
She added 3.25 kg of clothes,

and then decided to take out
2.05 kg.

What is the new weight
of the barrel?

[ 42.95 kg ]

Put the other hand at the
correct place to make an angle
written below.

model?

Malachi wanted to build a bl?
cube with a volume of 64cm,
using small cubes.

How many more small cubes
does he needs to finish his

{ 33 small cubesJ

Fill in the missing digits.

33|15

3

85,262 -

+ 4,000 = 7,353

= 262

Complete the calculation.

B

Circle the largest number in each row.

I 2,699

(~ ~N(
)]
S )\

[ 50,999

~\

J

(00

wlin -

7,341 ]
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7,553
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3,470 }[ 13,980 ]




Calculate the answers mentally. Circle all of the prime
numbers below.
150x 20 =
13 6
19x 5= 17
8
21
13x 100 = 3

A shape is translated three Partition these numbers.
squares to the right, two down

and three to the left.
Draw the new position 455
of this shape. '

HEN 7.262

Emily is making a new rice dish.
For every 25g of rice, she needs 40ml of 34,305 - 465 =
water and 30ml of vegetable stock.

Colour the second image to show an
equivalent fraction.
Write the fractions under each image.

She uses a total of 210 ml of liquid.
How much rice did she use?

s




o

Calculate the answers mentally. Circle all of the prime A shape is translated three Partition these numbers.
numbers below. squares to the right, two down
and three to the left.
o Draw the new position
150 x 20 3,000 P 4.55

@ of this shape.
6 _ . - . 4 ones, 5 tenths, 5 hundredths
19x 5= q5 @ | ,
N 7.262

: 21 — 1 i b 7 ones, 2 tenths, 6 hundredths,

2 thousandths

13x100 = | 1,300

Emily {s making a new rice dish. Colour the second image to show an
For every 25g of rice, she needs 40ml of 34,305 - 465 =

equivalent fraction.
Waker and S0ml oy Vegataie stock. Write the fractions under each image.

She uses a total of 210 ml of liquid.
How much rice did she use? . 3 1

(63

0
75 g 4' 4 6
8 4

0 Z 3
12 |

I
e
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Zach has counted Complete the fractions. Circle the numbers greater than A train travels 100 km
backwards in 5s. 63 thousandths. in an hour.
Can you explain the mistake . .
he has made and correct it? How far does it travel in
L, 150 minutes?
-11. -6 -1 -4 36 12 6 0.63 63 ones
) ) )
12 7 _ 5 7 tenths 0.008 [ ]
8 8
6.3 0.2 \-...,
=
Write these numbers in order from the Circle the irreqular polugons.
smallest to the largest. 84,323 - 12,642 = JHarpes

O
N




Zach has counted
backwards in 5s.
Can you explain the mistake
he has made and correct it?

S11, -6, -1, -4

Zach has counted correctly until
he got to negative 1.

He counted back 1 number until
zero and then instead of
counting 1, 2, 3, 4 - he counted
backwards through zero.

Complete the fractions.

36

12

oL
12

(o] BN

ol

o] »n

Circle the numbers greater than
63 thousandths.

A train travels 100 km
in an hour.

How far does it travel in
150 minutes?

Write these numbers in order from the

smallest to the largest.

e[z (]

[ 36,540 ] [ 350,540 ] [ 360,450 J

84,323 — 12,642 =

Circle the irregular polygons.

3 12 1
- 8 4.3 2 3
1 2.6 4 2
7 1,6 8

b O
a({(Ngam)










